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QUESTION 1

A technician is configuring the core of a Converged Campus network, and is adding a backup-master configuration to an
existing Virtual Router Redundancy Protocol (VRRP) configuration for a VLAN that extends to the edge switches. Which
benefit is expected from the addition of backup-master?

A. reduced traffic on the Inter Switch Trunks (1ST)

B. reduced traffic on the uplink ports

C. redundant default gateways for host devices

D. reduces VRRP hello packets

Correct Answer: A

QUESTION 2

You are configuring a QoS Policy on an ERS RS or 8800 module to police the ingress data rate on a port with the
following ACLI command on the interface level: qos if-policer police-rate 10000. What other two ACLI commands are
required on the edge interface? (Choose two.)

A. (config)#interface qos enable.

B. (config-if)#enable-diffserv enable.

C. (config-ify#access-diffserv enable.

D. (config-if)#no core-diffserv enable.

Correct Answer: BC

QUESTION 3

One of the switches in the Ethernet Routing Switch (ERS) stacks files and is replaced. The auto unit replacement (AUR)
is enabled but the stack is not functioning

properly.

What is the problem?

A. The switches in the stack are not identical

B. the stack power was left on during the switch replacement.

C. The switches in the stack are not running the same release of software
D. The stack has two switches with Force Stack disabled.

Correct Answer: B
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QUESTION 4

A customer is upgrading an existing ERS 8610 with the 8692SF to software version 7.x. Which statement regarding the
upgrade is correct?

A. The customer must upgrade the 8692SF to an 8893SF for software release 7.x.

B. The customer can run 7.x with the existing 8692SF, although some features will be disabled.
C. The customer can add the SuperMezz module to the 8692SF and run release 7.x.

D. The customer must upgrade to an ERS 8810 chassis to run software release 7.x.

Correct Answer: C

QUESTION 5

IPFIX is protocol used for the export of flow information from traffic observed on a switch. Which true for the functioning
of the IPIX protocol? (Choose two.)

A. The IPFIX exporter handles sending packets to the collectors.

B. There is a command for exporting and flushing.

C. The IPFIX information cannot be exported to a 3rd-party application.
D. The exporter can support up to 6 collectors

Correct Answer:. AB
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